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1. Withun 30 minutes of the iggfie of the Question Booklegfcheck the (estion Booklet to ensure that
.t contains all the pages 1gftorrect sequen o page/questioNis missing. In case of faulty
Question Booklet bring iff to the notice o tendent /Invigilatdgs immediately to obtain a
fresh Question Booklet

2. Do not bring any loose ppaper, written or blgnk, ingide the Examination H{ll except the Admit Card.

3. A separatc OMR Answjr Sheet is given. It $houldnot be folded or mutilated A second OMR Answer
Sheet shall not be profided. Only the OMREAnSUE sy il be evaluated

4. Write all the entries Iy blue/black ball pef in gpegpacg provided above,

5. On the front page of the OMR Answer §heet \§ y pen your Rolf Number in the space

e cirMe® at the bottom. AJso, write the Question
the Set Number (wherever gbplicable) in appropriate

provided at the top,jand by darkening
Booklet Number, Cenfye Code Numbera
places.

6. No overwriting is allowel in the entries of Roll No., Question Booklgf No. and Set No. (if any) on
OMR Answer Sheet and a\go Roll No. and OMR Answer Sheet Serig’ No. on the Question Booklet.

7. Any change in the aforesaid\gntries is to be verified by the Invigjiitor, otherwise it will be taken as
unfair means.

8. [Lach question in this Booklet is IDWgged by four alter 'e answers. For each question, you are to
record the correct option on the OMR SUE poT by darkening the appropnate circle in the
orresponding row of the OMR Answer Sheet, by ball-point pen as mentioned in the guidelines given
on the first page of the OMR Answer Sheet,

9. For each question, darken only one circle on the OMR Answer Sheet. If you darken more than one
circle or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11 For rough work, use the inner back page of the title cover and the blank page at the end of this
Book:et.

12. On completion of the Test, the Candidate must handover the OMR Answer Sheet to the Invigilator
11 the examination room/ hall, However, candidates are allowed to take away Text Booklet and copy
of OMER Answer Sheet with them.

13. Candwdates are not permitted to leave the Examination Hall until the end of the Test.

14 if a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the Jmversity may determine and impose on him/her.
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18P/207 /21 Set No. 1
No. of Questions/JvA1 &t W4T : 120
Time/THY ; 2 Huurs/ﬁ“ﬁ Full Mnrhf@ﬁﬁ: 360

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

ATTFITF T F T FH F W | TIF TH 3 3% F 21 T
THd S % AU U F F TN | YAS FgARd W F UHE A
' |

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afz wEfE dFfus IW T IW * e wdle @, @ fwemw a@ Im
-

1. Where are coral reefs mostly found?
(1) Tropical region (2) Polar region
(3) Temperate region (4) Equatorial region

(88) 1 (P.T.O.)
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18P/207/21 Set No. 1

(88)

vara fufrl sfesiva: F& ol S 87

(1) IwEHEEHE e (2) dE 9o

(3) anefiaren oW (4) VEeIEE e

Formation of Mid-Atlantic Ridge i-s a typical example of the process of
(A) Convergence (B) Divergence

(C) Shear (D) Sea-floor spreading

Qelect the correct answer from the codes given below :

Code :
(1) (A) and (B) (2) (B) and (C) (3) (B) and (D) {4) (A) and (C)
qe-TAIE FoF ¥ fmiu & whEa fafie sgeo 2

(A) At (frea) (B) faaem =1

(C) FZH FI (D) ¥ a1 % faam
4 fu e ¥ W IW IR

Pc

(1) (A) a91 (B) (2) (B) @41 (C) (3) (B) 941 (D)  (4) (A) 991 (C)

Which one of the f=llowing climate types results due to seasonal shifting of the
planetary pressure and wind belts?

(1) Mediterranean (2) Equatorial

(3) West European (4) Hot Desert

gcollegeduniaa
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Fefiviga seRr SRl A & R @1 3qne e amee v T ARd  ded
A & FRO BT 27

(1) HeEriE (2) fagaeia
(3) ufvedt gad (4) IO TEEIEAN

Where are the Zulus found?

(1) Australia (2) South Africa (3) Zambia (4) Uganda
I FR TR 9 &7
(1) siefern (2) zfor aefiE (3) e (4) g

Which one of the following is a tropical grassland?

(1) Veldt (2) Steppes (3) Prarie (4) Llanos
frafafiga d @ #9 & IwmEReaHg g fem 27
(1) dvg (2) Rt (3) St (4) @

The geosynclinal theory of mountain building was propounded by whom?

(1) Daly (2) Holmes (3) Kober (4) Suess
vda Ffor &1 yafy frgr e g sfamfea gan?
(1) 2=h (2) &= (3) Fra (4) @9
3 (P.T.0.)
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18P/207/21 Set No. 1

7. Which one of the following is the wind produced geomorphic feature?

10.

(88)

(1) Rias (2) Hamada (3) Drumlins (4) Sinkhole
frafafiga § @ #19 TP -TFas = 87
(1) T (2) T (3) gfrerm (4) dreTy

Quartzite is formed by the metamorphosis of which of the following?

(1) Sandstone (2) Marble (3) Granite (4) Hematite
frefaflas # fFm & S0 @ SRAEE F9d1 @7
(1) SeEeR & (2) TTEH % (3) UAEZ * (4) BARTR &

Which one of the following is the landform of Karst Region?

(1) Ramp Valley (2) Zeugen (3) Arete (4) Blind Valley
Prafafs § @ #19 F1R wow i wWEFH 27
(1) 9 (2) ¥ (3) them e (4) 319 =&

Which one of the following is associated with two parallel faults?

(1) Strike Valley (2) Hogback

(3) Graben (4) Anticlinorium

frafafas 4 @ #19 © gOEER 99 8@ gefEa 27

(1) Afdera =@ (2) BT (3) AT (4) TU9ATd
4
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Study the following statements and select the correct answer from the given
codes

(1) There is gradual increase in the velocity of the seismic waves at the base of
lower crust.

(i) The average density of the rocks of lower crust is greater than that of the
upper crustal rocks.

(111} The outer core of the Earth is in molten form.

(iv) The mantle core boundary is determined by the Moho-discontinuity.
Code :

(1) (i) and (iii) are correct (2) (i) and (i) are correct

(3) (iii) and (iv) are correct (4) (i) and (iii) are correct

i Fuet 1 Fee Hifse qun f6F Y | | sw g

() ¥u: 998 F 9o # yFefw qon f vl F ww gfy @ R

(i) 39 g8 % A & oftvw W I i A | s @ R

(iii) 9ot 1 A TR e HaEq F R

(iv) 9t ¥ WAR s & wed i dim F Fator f@ s g da )

@<
(1) (i) @& (iii) &€ @ (2) (i) W@ (i) & 2
(3) (iii) T (iv) | @ (4) (i) T&@ (iii) | 2

5 (P.T.O.)
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12. Which one of the following planets is known as ‘ringed planet™
(1) Neptune (2) Pluto (3) Uranus (4) Saturn
frofafa Tet § R ‘aem 1E ¥ AW A ST S 27

(1) I8 (2) I (3} T&Y (4) WA

13. What does create ‘Nunatak™

(1) River (2) Wind

(3) Underground water (4) Glacier

‘s fEaa e war 27

(1) 74 (2) - 9 (3) qmmE St (4) fewrs

14. ‘Thermosphere’ lics between which of the following?
(1) Troposphere and Stratosphere  (2) Mesosphere and Ozonosphere

(3) Stratosphere and Mesosphere (4) Ozonosphere and lonosphere

frafafigs § g % e § ‘aopvea’ fiym 27
(1) A9HUSH Ud HHATIHISH (2) WS Ud STHAMEUES

(S]W@W (4)%@@@3{%

15. Which one of the following is known as ‘thunder cloud’?
(1) Cirro-cumulus cloud (2) Cirro-stratus cloud

(3) Cumulo-nimbus cloud (4) Strato-cumulus cloud

(88) 6
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(88)

18P/207/21 Set No.

el 4 @ fF ‘afea ' =ea €7

(1) vam-Farefl see (2) TE™v-w0 e
@) waeh-at e (4) W-FRE e

The Inter-Tropical Convergence Zone during the South-West monsoon season ir
India shifts towards the

(1) North (2) East (3) South (4) West
vrid # efioft-ufvedft aigft 6q 9 srau-swesRedn sfimror 39 fags ot 2
(1) A AT (2) T@ A A (3) g it 3w (4) ofdwm $i 3k

Which air pressure belt is called ‘Horse Latitude’?

(1) Polar high belts (2) Equatorial low belts

(3) Sub-polar low belts (4) Subtropical high belts

F-d aggE I8 owa wEw Fead R7

(1) g 3= ofeat (2) fogadta f= efeat

(3) I9-yam fe afear (4) 3qrer 3= feai

Who among the following introduced the ‘principle of activity’ in Huma
Geography?

(1) F. Ratzel (2) J. Brunhes

(3) Vidal de la Blache (4) R. Hartshorne

7 (P.T.O
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19.

20.

21.

(88)

frafafigs # | R e g d ‘Granfea @ fagra’ wenfaa fear?
(1) Tho @ (2) Sto 37

(3) aMEEA § o A (4) Mo BEWH

Toda tribe in India is mainly found in which State?

(1) Uttarakhand (2) Jharkhand (3) Tamil Nadu (4) Rajasthan
2reT SAfd qEgd: WRd & fRe 59§ el St 27

(1) ITETE (2) ¥R@EUE (3) AfuerTg (4) TSI

Which one of the following is not correctly matched?

(1) Congo Basin—Negrito (2) Scandinavia—Nordic

(3) Siberia—Alpine (4) Kalahari—Bantu Negros
Prafufias § @ #1 gk 98 27

(1) @M At (2) SHfeAfFm—aifés

(3) TTgafr—arearg (4) Hremgri—anz, Hm

The concept of Genre de vie (‘distinctive way of life’) was propounded by
(1) E. Reclues (2) Vidal de la Blache

(3) Jean Brunhes (4) Patrick Geddes

S g (faftre Sftem wgft') i dwen wqa £ oo
(1) 3o &g gm (2) 932 T & AW A
(3) S W gm (4) A= fifew zm
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18P/207/21 Set No. 1

22. Who among the following formulated Concentric Zone Theory of internal

23.

24.

(88)

structure of urban centres?
(1) E. Burgess (2) H. Hoyt (3) E. Ullman (4) C. Harris

Fefalad 4 & feeq w10y $51 1 e TEA F owd a4 () g
A EI'FI

(1) 3o afifg (2) THo BIUA (3) 3o IeWH (4) Ho Bfm

Which one of the following are cold currents? Select the correct answer from the
codes given :

(a) Brazil Current (b) Humboldt Current
(c) Oyashio Current (d) Kuroshio Current
Codes :

(1) (a) and (b) (2) (a) and (d)  (3) (b) and (¢}  (4) (b) and (d)
fFrefafen & @ #1436 and 37 fou ™ F2 @ wd 3w gh

(a) TS G (b) &EIee |
(c) s (d) AR v
- A

(1) (a) 941 (b) (2) (a) @9 (d) (3) (b) 94T (¢) (4) (b) T (d)

Which one of the following are coral islands?

(1) Bermuda (2) Andamans (3) Mauritius (4) Nicobars

9 (P.T.O.)
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25.

26.

27.

(88)

frafafgs § @ #19 ©F qm {9 27

(1) oS (2) 3vEHH (3) Wi (4) HrHET
Agricultural land belongs to which one of the following resource category?
(1) Ubiquities (2) Commonalities

(3) Rarities (4) Uniquitics

i yfy frefitan wae AR § 3 REd wate 20

(1) FageW i (2) W gE FHif

@) foer =ife (4) wha Fife

What do ‘Furious Fifties’ refer to?

(1) Polar wind (2) Monsoon wind

(3) Trade wind (4) Westerlies

‘Fu qarEr fF8 gFd A 8¢
(1) Y& e (2) WiTGA YA (3) HAMMNE YA (4) UFIHT A

In Weber’s theory, the location of industry is basically guided by

(1) Government Policy (2) Economies of Scale
(3) Transportation Cost (4) Labour Cost
I ¥ fyg #, sam % @A yEa: Faba e e
(1) st Hfifa gra (2) ufmmr waf fisraa g
(3) wiae @@ grI (4) »® @TE g
10
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18P/207/21 Set No. 1

28. Match List-1 with List-Il and select the correct answer from the given codes :

List-I (City) List-II (Industry)
(A) Osaka () Ship building
(B) Hamburg (if) Textiles
(C) Detroit (iii) Iron and Steel
(D) Pittsburgh (iv) Automobiles
Codes :
A B (© (D) A (B (€ (D
(1) (1) (1) (iv) (i) (2) (1) (11) (m)  (iv)
3 ) ) () (iv) 4) () () (iv) (i)
gei-1 # ge-1l @ gafoa fife qo R Fe @ wd sw g .
-1 (W) gei-11 (3ai)
(A) SAETH () 9 fmior
(B) B (i) F& fmio
(C) ¥ (iii) rR-FeTd
(D) forzarert (iv) Wit
E T
A (B (€) (D) A (B) (€ (D)
(1) @) 0 (iv) (i) 2) (i) i) (i) (i)
@ @) @ () (iv) (4) (i) (i) (iv) (i)

29. Who is the author of The Nature of Geography ?
(1) H. H. Barrows (2) R. J. Chorley
(3) Carl Sauer (4) R. Hartshorne
(88) 11 (P.T.O.)
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18P/207/21 Set No. 1

30.

31.

32.

(88)

fo Fer HIH ST & AGH P 87
(1) THe THo CUE (2) 3ARe Ho et
(3) Fe FE (4) 3o EZUMH

Who propounded the theory of agricultural location?

(1) Von Thiinen (2) Weber (3) Philbrick (4) Christaller
Fy srafeafy &1 fagra fre iquiea fra?
(1) 9 =47 (2) I (3) Twafas (4) freien

When was the Survey of India set up?
wd ofw gfea i TN Fa g
(1) 1792 (2) 1767 (3) 1857 (4) 1947

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) Plantation agriculture is highly developed in South-East Asia.
(R) South-East Asia remained under the European rule for long time.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) 1s false, (R) is true.

12
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A9 2 #ea feu M B oF F owfEe (A) N @ B I (R) F w9 F fan mn
t1 Frefofe g1 # @ @@ 3w gfu .

(A) gferft-gdfi ofirn & aomdt Ff orfus RwRe 2
(R) algroft-gff oftrn &vat v a9 qUdfly wew § @ R

E T

(1) (A) 3 (R) At G & awr (A) F @R R (R), B
2) (A) 3R (R) T 79 & wg (A) A = =wen (R), T 2
(3) (A) ¥ 8, (R) el 21

(4) (A) A B, (R) ¥ RI

33. Which one of the following is not correctly matched?

Ship-building Centres (USA) State
(1) Houston Texas
(2) Sparrows Point Maryland
(3) New Orleans Louisiana
(4) Camden Florida
frafafga § @ 9 9@ gufoa 7@ 27

fig-fAafor #% (ZoTHolo) T
(1) qEA 2T
(2) WS @R FfRive
(3) 9 3nfeidst SEEIE)
(4) Fued TSl

(88) 13 (P.T.O.)
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34. What does ‘population pyramid’ illustrate?
(1) Temporal growth of population
(2) Spatial distribution of population
(3) Age-sex structure of population

(4) Occupational structure of population

‘sae foufie’ w0 fafa & 27

(1) seEn # Ffes Ihe (2) ST 1 i fam
(3) SEE  Ig-for qEAT (4) SEEET i ARG e

35. Which one of the following rivers is outcome of mainly faulting?

(1) Mahanadi (2) Narmada (3) Cauvery (4) Mahi
fmfafiga afedt & @ #19 gega: ¥y9 #1 gftom 27
(1) H&HE (2) HaT (3) wEt (4) =T

36. Which one of the following rock formations is the richest in plant fossils?

(1) Cuddapah (2) Siwalik (3) Vindhyan (4) Gondwana
fFrafefiga S auel § #i9 wey Sftawdi § gatius w27
(1) Fo (2) fRrafere (3) farea (4) Tirgam

37. Who developed the ‘core-periphery model’ of regional development?

(1) Kuklinski (2) Isard (3) Friedman (4) Richardson

(88) 14

[ ]
—_ gcollegedumaa
India’s largest Student Review Platform

—



18P/207/21 Set No.

TRt oem & ‘Fe-otfy aea’ # e fefue fear?
(1) Fenferehl (2) gErg (3) $r=hq (4) fadam

38. The warm local winds blowing along the Eastern slopes of Rockies are called

(1) Foehn (2) Sirocco (3) Chinook (4) Harmattan
W vda ¥ ¢l el W w el e ™ o o e @
(1) B 2) fau 3) fare (4) T

39. As per 2017 data, which one of the following developing countries has th
lowest infant mortality rate?
(1) India (2) Sri Lanka (3) Pakistan (4) Afghanistan
2017 & AHS & En Frafafgs fowmefia 3o § & e fing wedar 2 s
27
(1) ¥wa (2) e (3) Wi (4) SEmrEE

40. The concept of Sustainable Development is based on which of the following?

(1) Agenda 21 (2) Basic Need Approach
(3) Brundtland Report (4) Human Development Index
gaq fawm & dwern F=fafed 7 8 fFe w0 smarfa 27
(1) TSl 21 (2) YEN@ NETEHAT IIH
(3) seeig fgrd (4) wHa faFm e
(88 15 (P.T.C
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41.

42.

43.

(88)

Who propounded the Growth Pole Theory?

(1) Boudeville (2) Perroux (3) Myrdal (4) Christaller
gfg 43 fagr frem wfearfea fam?
(1) sgfaa (2) TUF (3) g« (4) Tremien

Which one of the following is true about Representative Fraction (RFK] ?
(1) Numerator and denominator are in the same unit.

(2) It is an average figure.

(3) Numerator represents ground distance.

(4) Denominator represents distance on map.

vedts fim (wofito) & ar # fimfafas & #7 ad 27
(1) 3 @ & @6 @ w0 d A (2 T T NE I R
(3) 3V e gft AF F e (4) & "l @ g saw w2

In the global heat budget, what is the proportion of solar energy absorbed
directly by the atmosphere?

Afvas Fo0 a9 § JIgEUSE g YIE TRV ol Sl arell e @ otw feam 27
(1) 44% (2) 64% (3) 20% (4) 6%

In Thornthwaite’s scheme of climatic classification, semi-arid type of humidity
province is indicated by which symbol?

(1) B (2) C (3) E (4) D

16

[ ]
gcollegedumaa
India’s largest Student Review Platform

—



45.

47.

(88)

18P/207/21 Set No. |

mﬁmmmﬁﬁ-ﬂﬁmmwmhﬁsﬁiﬁa
4

(1) B g/ (2) C g (3) E g1 (4) D g

Amravati City is located by which one of the following rivers?

(1) Godavari {2) Krishna (3) Cauvery (4) Musi
adt TR Fefafeas § @ g 78 @ fim R7
(1) Tt (2) Fom (3) ®ad (4) g&h

During which of the following periods, the Earth is supposed to have cooled
from a hot gaseous state to molten state?

(1) Quaternary  (2) Triassic (3) Cambrian (4) Pre-Cambrian

Pt & @ fre o 3§ gl T et e @ Reeh o sen @ ol
fi 59 g A7

(1) wd (2) feamfees (3) Hfearm (4) N-¥firm
Which one of the following is associated with exogenetic forces?
(1) River erosion (2) Volcanic activity
(3) Continent forming movement  (4) Faulting
frafoied d @ 9 am o @ wafua 27
(1) F§ e (2) STy fRar
(3) werg fwfor g (4) WM
17 (P.T.0.)
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48. The following facts are associated with which geographer?

49,

50.

(88)

(a) He was a German.

(b) He died in 1859.

(c) He wrote the book Kosmos.

(1) Ritter (2) Ratzel (3) Humboldt (4) Richthofen

frafafas qea fF e @ w&fa 87
(a) d 9 &)
(b) 3R g 1859 # B3I
(c) 3@ Figuig TmE Y fodt|

(1) (2) e (3) wEee (4) farss

Talcher coalfield lies in

(1) Damodar Valley (2) Mahanadi Valley
(3) Son Valley (4) Godavari Valley
arerT Haen &9 fem R

(1) gmrex =rdt | (2) HEEl =} A

(3) §F 9@ ¥ (4) T gEd udt |

Cumulative frequency curve is shown by what?
(1) Ogive curve (2) Frequency curve

(3) Histogram (4) Pie diagram

18
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vl IErEr g% R avte w27

(1) a9 T (2) IERET TF
(3) Sgafax (4) ¥ IMG

S1. Which one of the following States of India does not have maritime boundary?

(1) Kerala (2) West Bengal

(3) Telangana (4) Maharashtra

yid & Fefofes owi & 3 feadht agh dm w27

(1) e (2) vRe® @M (3) deEn (4) wETTg

52. Match List-T with List-II and select the correct answer from the given codes :

List-I (Project) List-II (River)

(A) Almatti (i Tapi

(B) Idukki (i) Ravi

(C) Ranjit Sagar (i) Krishna

(D) Ukai (iv) Periyar
Codes :

@4 B (€ (D A (B) (€ (D)

(1) (@) Gv) @ () (20  (v) () (@) (i)

3) (i () () (4 @ () (iv) (i)

(88) 19 (P.T.O.)
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53.

54.

(88)

@-Iaﬁ@-nﬁgﬂ%aaﬁ’rﬁqam&qm@ﬂuﬁmgﬁu:

-1 (aRasTT)

(A) e

(B) 35!

(C) TUsfld |TR

(D) 3%
E T

@A B (© (D)
(1) G v () () (2)
3 ) () () () (4)

gefi-1 (7)
(i) ardt
(i) Tl
(iii) Foom
(iv) TR

(A) (B) (C) (D)
(iv) (i) (i) (i)
(11) (1) (iv) (i)

Which one of the following has the longest international boundary with India?

(1) China (2) Pakistan

(3) Nepal

(4) Bangladesh

frafifiga § & fee @ 9@ & @y ged el sy Hm R0

(1) = (2) uifFeT

(3) UTA

(4) AT

The percentage of the Scheduled Tribes is highest in which one of the following

States of India?
(1) Arunachal Pradesh

(3) Meghalaya

(2) Mizoram

(4) Nagaland

uid § gfad sEeadl # FAHE F IFqH Siavd Fefafad oeat 8 @ e

®7
(1) rvmEd wew  (2) faemm

20

(3) WU

(4) TS
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Which one of the following ports of India is located on Odisha Coast?
(1} Haldia (2) Mumbai
(3) Paradeep (4} Vishakhapatnam
sm%ﬁsr%ﬁaaézmﬁﬁﬁa%q—ma’r%mazmmﬁa%?
(1) e (2) e (3) wrr (4) Fremamam
Which one of the following has the highest elasticity?
(1) Waterways (2) Railways (3) Airways (4) Roadways
Frafafga & @ frad s=5an aeiemm @ 27
(1) Sremml (2) temmi (3) argEmi (4) FgFAT
Mark the odd out of the following :
(1) Raniganj (2) Makum (3) Chandrapur (4) Jharia
fraffaa & & sua #t fafgm Fifsmo .
(1) T (2) 9TEH (3) ¥ (4) @i
Which one of the following crops has the largest percentage of irrigated area (
its net sown area in India?
(1) Sugarcane (2) Paddy (3) Wheat (4) Oilseeds
wi # fFefofes wael 4 @ fhes safa 3o% g w9a $R a3 § fifw a9 s
yfaera waffos &7
(1) = (2) 9 (3) TE (4) deE

21 (P.T.O
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59. The biggest petro-chemical production centre in India is located at which of he

60.

(88)

following places?

(1) Trombay (2) Jamnagar (3) Ankleshwar  (4) Noonmati
mﬁ@-mwmmmwmﬁw%mwﬁﬁﬁﬁmﬁa%?
(1) i (2) ST (3) eIy (4) AU

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the following codes given :

(A) West Bengal has very high population density.

(R) West Bengal is the main rice producing State of the country.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R} is not the correct explanation of (A).
(3) (A) is true (R) is false.
(4) (A) is false (R) is truc.
9 3 w7 By mu ¥ w sfiwes (A) o ZW W FAO (R) F w0 F f@om
2 fau M et 72 A @ @@ IR
(A) ufFem &Mt § SHEE U 98 I 2
(R) ufvam amiel 40 1 Iq@ 9Ed I9GH 59 2
g
(1) (A) 3 (R) 2Fl @ # @1 (A) Fi & =A@ (R), 2
(2) (A) 3 (R) 291 ¥9 € W (A) & T =ET (R), T R
(3) (A) ¥ R, (R) T R
(4) (A) T R, (R) ¥

22
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Which one of the following Tiger Reserves of India is located in Mizoram?

(1) Buxa (2) Melghat (3) Bhadra (4) Dampha
wra § Frafafes o ot (fed) 4 @ <9 e & safem 27
(1) s (2) AeTER (3) ¥ (4) SF@I

Which one of the following soil is most suited for tea plantation?

(1) Alkaline (2) Alluvial (3) Acidic (4) Regur
frafafgs d @ FH-dt 0 9 st & fou waifs g 27
(1) @ (2) siEg (3) 3r=fm (4) T

Which one of the following rivers flows across all the three ranges of the
Himalayas?

(1) Sutlej (2) Chenab (3) Jhelum (4) Ravi
ffefigs afeat 4 @ #19 fooeg f & 40 & AR-IR F7d@t 27
(1) e (2) fama (3) g™ (4) T

Which one of the following tribes of India belongs to the proto-Australoid race?

(1) Irula (2) Santhal (3) Khasi (4) Tharu
wa &t frafafgs § @ -8 e R -iewiEs yeid 8 gea 27
(1) 3ol (2) AYTS (3) @t (4) 9=
23 (P.T.O.)
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65. Match List-I with List-II and select the correct answer from the given codes :

(88)

List-I (Region)

(A) Karnataka Plateau

(B) Pat Plateau

(C) Malwa Platcau

(D) Northern Circars
Codes :

(A) (B) (C) (D)

(1) (v @) 6) ) (2)
(3) (11) (1) (ivf (i) (4)

List-II (Soil Type)
(1) Regur
(i) Red soil
(iii) Laterite soil

(iv) Alluvial soil

A B (€) (D)
@ @ (@) ()
i) () @) (i)

-1 # g & gafem A g o o | v s g .

gfi-1 (52w)

(A) FATCH TN

(B) W W3R

(C) WISl T3N

(D) 3T TFR
P2 :

A4 B (€ (D)
(1) Gv) @) G) () (2)
3 @) () (iv) (i) (4)

24

qHA-I (g3 5%R)
(i) T
(i) @
(iii) TYeuge fig
(iv) et fodh

A) (B (€ (D)
(1) M) () (i)
i) () () (iv}
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66. Which one of the following is a characteristic of an anticyclone?

(1) Cloudy weather (2) Strong wind

(3) Descending wind (4) Temperature rise

frafefiga § @ #9 Yioasraa $i s 27

(1) aGege dEq  (2) a1 g (3) e It g (4) AW g

67. Which one of the following is not correctly matched?

(1) Rajhara-Chandrapur (2) Noamundi-Singhbhum
(3) Kemmangundi-Bhadravati (4) Gurumahisani-Keonjhar
frafefiae & @ $1 gifem 78 27
\1) TRl (2) Framod-faeyfy
(3) FHFIUE-SEE] (4) TERTEET-FIE
68. Which one of the following is an example of metamorphic rock?
(1) Basalt (2) Marble (3) Limestone (4) Sandstone
froffga § @ ®9 TG TgE H IE@ 87
(1) =@ (2) TR (3) M TR (4) T T

69. Which one of the following States of India has not been formed on the basis of
linguistic homogeneity?

(1) Odisha (2) Maharashtra
(3) Sikkim (4) Karnataka

(88) 25 (P.T.0.)
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70.

71.

72.

(88)

urd % Prefofed o=t 4 @ feasr fmtu wd anegar  amur w A A T
27

(1) 3ffEm (2) ATy (3) Faferm (4) FAH

Which one of the following river valley projects is the joint venture of Andhr
Pradesh and Odisha Governments?

(1) Mayurakshi (2) Nagarjun Sagar
(3) Pochampad (4) Machkund
27

(1) ed (2) MG TR (3) TR (4) "aFg
Which one of the following is not a part of Homosphere?

(1) Mesosphere (2) Thermosphere

(3) Stratosphere (4} Troposphere

frafafga & & *9 auavss &1 97 787 27
(1) TqUse (2) ATIHVEH (3) FHATIHUESH (4) &uEe

Which one of the following is not correctly matched?

(1) Bhils-Rajasthan (2} Kadars-Kerala
(3) Kukis-Himachal Pradesh (4) Rajis-Uttarakhand
Fefafaa 4 | #9-m w gafa 787 27
(1) fre—Tsweuas (2) FAR-FTe
(3) Fh-femraa wewm (4) TS-ITrEvE
26
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Rudrasagar Development Scheme, approved by Planning Commission in 2012,
was launched in which State?

(1) Assam (2) Manipur (3) Sikkim (4) Tripura
TS A g 2012 § wiga wEeR frmm de R s § smy @ o oAt
(1) " (2) worg (3) fafem (4) Fgu

Which one of the following names is given to the northern half of the
Mid-Atlantic Ridge?

(1) Dolfin rise (2) Azores rise

(3) Challenger rise (4) Telegraph Plateau
qe-3TAIh FZF & Iadl oY wm it Frefafes d & few am @ s s 20

(1) Sl MR (2) HAFE IR (3) IA=R R (4) TS TR

According to population census 2011, which one of the following States of India
has the lowest percentage of urban population to its total population?

(1) Odisha (2) Himachal Pradesh
(3) Jharkhand (4) Rajasthan

SUET 2011 % AR, WRa & Fefifas o 4 @ e ifm sawen @ g
SaE 4 i e 27

(1) anfemm (2) fearae wew (3) W@ (4) TSRYH

Which State of India recorded the negative growth rate of population during
2001-2011 7

(1) Goa (2) Kerala (3) Karnataka (4) Nagaland

27 (P.T.0.)
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77

78.

79#

(88)

T % S TS ¥ 2001-2011 H Il § womews wEen qfg i B
(1) e (2) Fe (3) FATCH (4) TS

Aluminium industry is generally located near the
(1) Source of raw material (2) Market

(3) Source of power (4) Source of labour
wegfiem 3diT aE: sEfeE wa

(1) ¥ W $ a9 F B (2) @R % fe

(3) Wik & &ra & e (4) o9 % | & Mz

Which one of the following ports has been developed on a lagoon?

(1) Kochi (2) Paradwip (3) Mumbai (4) Chennai
Arifea Tl # @ #4 dE w R R 27
(1) #fa (2) IUEN (3) gwI3 (4) =8

In which one of the following positions, the speed of the Earth’s revolution is the
highest?

(1) Summer Solstice of Northern Hemisphere

(2) Winter Solstice of Northern Hemisphere
(3) Vernal Equinox

(4) Autumnal Equinox

28
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Hefafga § @ fr o § g % wRumw € Ry gatfe w27
(1) Jaf Mo & ey s (2) Iaft Mo ¥ Wz AW

(3) s faga (4) Rawe faga

80. Balanced regional development was a major objective of

(1) Third Five-Year Plan (2) Fourth Five-Year Plan
(3) Fifth Five-Year Plan (4) Seventh Five-Year Plan
Ffod el f9FM q& @8 o

(1) g va-affa asmn & (2) =qd u=-affy FsEr F¥
(3) ufadl 99-adig FreFn (4) "t vg-affa asEr F@

81. Who among the following is associated with the concept of ‘areal functional
organization’?

(1) Walter Christaller (2) Alfred Weber
(3) A. K. Philbric (4) R. O. Buchanan
frefafaa & @ # ‘efla FRfos wme’ § GFc # wafg @7
(1) aee frerent (2) ITHE I
(3) Yo Fo frcforh (4) Mo 3o FHH
(88) 29 (P.T.0.)
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82. The planning in which one central authority formulates and executes the plan is

83.

84.

(88)

called
(1) Indicative Planning (2) Imperative Planning
(3) Corrective Planning (4) Functional Planning

g e d ats & fmiv @ FEiEE & $59 T gE R o9 2, |
FEd &

(1) s fFaisE (2) JRIMRF e
(3) FuMyATERs FarsA (4) Fatam Fasm

Which one of the following is a Siliceous Qoze?
(1) Red clay (2) Globigerina (3) Pteropod (4) Diatom
frafafga § @ sh-m fafoes yum 39 27

(1) @ gherr VIRSHEERE (3) duUTE (4) Eraey

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) Economic development leads to environmental degradation.

(R) Conservation implies optimum use of resources.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) i1s true, (R) is false.

(4) (A) is false, (R) is true.

30
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M @ F fou T E o B oo (4) k@ B oww (R) F e § R o
UELRE TR R R
(A) i fam & w0 wafavfy e g 2
(R) we&ror 1 Afaym warEl &1 sgean 394 2|
Pl :
(1) (A) 3 (R) 1 ¥4 € a4 (A) A 76 =wwEd (R),
2) (&) 3 (R) T 9 R 9 (A) B T e (R), 6 R
(3) (A) ¥4 B, (R) e 2|

(4) (A) "Ed R, (R) T |

85. Which one of the following ocean currents is replaced by El Nino?

(1) Antarctic Drift (2) California Current

(3) Falkland Current (4) Peru Current

frefeifea & & #-8 wemrda g e B9 g sfeenfie & st 27
(1) HUeEh{eH FaTe (2) e am

(3) BIHEIVE HRT (4) 9% um

86. Which one of the following types of population density is obtained by dividing
total population with total arable area?

(1) Agricultural density (2) Nutritional density

(3) Physiological density (4) Rural density

(88) 31 (P.T.0.)
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87.

89.

(88)

ﬁﬁtéﬁﬁﬁmaﬁmﬁfﬁaﬂﬂﬁmﬁﬂmﬂﬁmﬁﬁﬁﬁﬁ

T e e YR W g 27

(1) F =S (2) WH A

(3) FRaH T (4) T w

Karaganda Basin is famous for the mining of which mineral?
(1) Coal (2) Bauxite (3) Iron ore (4) Copper
e Afe fFe @i % sam % foe g 27

(1) (2) ST (3) We @@ (4) af
The core of the Great Himalayas is made up of

(1) Quaternary rocks (2) Archaen rocks

(3) Dharwar rocks (4) Gondwana rocks

e feaem w1 wis fffa 2

(1) ®eEd A g (2) nfFaa f=lt g

(3) urETs el g (4) Tigamr Aet g

Who amongst the following scholars suggested population potential model for

population distribution?

(1) J. B. Garnier (2) J. I. Clarke

(3) J. Q. Stewart (4) G. T. Trewartha

frafafar & @ fre fgm Y Een fGom &g sen v & sl | gz
27

(1) Sto dto midm (2) So 3o FeTH

(3) Sto o HT (4) o Ao foanu

32
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90. Which one of the following is most essential for foot loose industry?

91.

92.

(88)

(1) Raw material (2) Capital

(3) Transport (4) Market

e Heg A & fou F=fafea § @ # gatfus smavas 27

(1) F= A (2) Of (3) whae (4) IS

A gradual change in the trend of population growth occurring over a long period
of time is known as

(1) Demographic dynamics (2) Population explosion

(3) Demographic transition (4) Demographic transformation
vF ael sy § SEen 3fg & Fhw ufeds i wft # s @

(1) SHITHHE TeaTeHHA (2) sEEn faesre

(3) TR THHYI (4) SHITHFHE Y=

Who amongst the following geographers first attempted to divide the world into
natural regions?

(1) Alfred Hettner (2) Carl Sauer
(3) Vidal de la Blache (4) A. J. Herbertson

frafafas & @ frg e 4 faw & gl wew @ fows &6 &1 sdvam WH
feran ?

(1) 3THS BTN (2) ¥l A
(3) argES § o SN (4) To Sfo FEEA

33 (P.T.0.)
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93. Who amongst the following gave the dictum : Place -» Work - Folk’?

94.

985.

(88)

(1) Patrick Geddes

(3) Elisee Reclus

(2) Carl Ritter

(4) Arthur Geddes

Frfafes § & P - 18 — a@% & g3 G a7

1) W= R (2 FE =

(3) uferdt Twe

(4) 3l wEy

As per 2011 population census, which of the following States of India does not
have an urban agglomeration of one million or above population?

(1) Haryana

(3) Jammu & Kashmir

(2) Odisha
(4) Jharkhand

2011 SVET & AR, ¥R & f=foRed w=al 4 4@ &9 4 25 @ @1 3@ &

A SHEE are T G T@ R 7
(1) gfmom (2) 3nfewm

(3) % ud HyH

(4) FTEvg

Match List-I with List-II and select the correct answer from the given codes :

List~I (Forests)
(A) Monsoon Forest
(B) Equatorial Forest
(C) Mediterranean Forest

(D) Coniferous Forest

Codes :
@A) (B) (C) (D)
() (i) () (v] (i) (2)
3) (@) Gv) () (11) (4)
34

List-II (Trees)
(1} Plum and Olive
(i) Pine and Spruce
(i11) Teak and Sa]

(iv) Mahogany and Rosewood

A)  (B) (C) (D)
av) 1) () (i)
(1) () (i) (iv)
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-1 F-1 § gaAfem A 7w By g F wh aw g

g1 (7) eI (34)
(A) HFgA S (i) =™ ud g
(B) TayFatda &7 (i) FIR @ TE
(C) 9eFarHE 39 (iii) ¥PTEM E e
(D) Rt 39 (iv) HEITR W e
77 :
(A) (B) (€) (D) (A) (B) (C) (D)
() (@ (i) (wv) (i) (2)  (v)  G) @) ()
(3) () (v) (1) (11) (4) (1) (i) (@) ()

The largest producer of steel in the world (2015) is
(1) United States of America (2) Japan

(3) India (4) China
fava # @ 1w w1 IATEH (2015) 2

(1) WqF T IR (2) ST

(3) Wrd (4) =M

Which one of the following is the largest exporter of L.N.G. ?

(1) Qatar (2) Iran (3) Saudi Arabia (4) Russia
frafafga & @ 19 tRotosfle &1 Ge@ oo fafas 27
(1) FXR (2) (3) FHd & (4) &9

35 (P.T.0.)
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98.

99.

100.

101.

(88)

Who propounded the concept of human regions?

(1) A. V. Perpillow (2) H. J. Fleure
(3) C. D. Forde (4) R. E. Dickinson
weE ween i gwea & feed gfawfda fean?

(1) o o rfued (2) THo Ho Hhedl
(3) Hto Fto PIS (4) Ao 3o fefFm
The Masai tribe is traditionally

(1} Pure agrarian (2) Food gatherer
(3) Pastoral cultivator (4) Hunter

qrfi @R W HEE S ¢

(1) I3 F7% (2) SRR WUERAl (3) WUEHH PR  (4) ARETF

The Great Deccan Highway linking Varanasi with Kanyakumari passes through
(1) Raipur (2) Vijayawada  (3) Chennai (4) Hyderabad
auvEl F FAFAE F FeA aen 32 I JEEnl e R

(1) TIg 4 (2) fasmarer & (3) 9= @ 4) T |

As per Census of India 2011, which one of the following States has the lowest
percentage-share of child population in rural areas?

(1) Punjab (2) Kerala
(3) Jammu & Kashmir (4) Haryana

T # SEOE 2011 F IR, fFefofen ot 4 @ e d ol g | g
S &1 Sfave-wm s 27

(1) IS (2) FTA (3) 9 wd FWR (4) =

36
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102. Which one of the following places was the centre of the Mongol Cultural Realm?

(1) Karakoram (2) Peking (3) Ulan Bator  (4) Yarkand
Frefefad @ @ F-m1 ©m e grepfes faea &1 &5 a7
(1) FREHIH (2) ofe (3) IAH TN (4) InF=T

103. Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer from the codes given below

(A) A three-tier hierarchy of planning regions has often been recognised.
(R) A three-tier classification is a necessity of regional planning exercise.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3] (A) 1s true, (R) is false.
(4) (A) 1s false, (R) is true.
o @ o7 fow = A A (A) dR g F FO (R) F w9 F B oman
3 A R om g § A wE I RN
(A) e =yl % B-win wEEe # @ =S § ad 2
(R) Faiem weuit & wam d B-wiw offem & Aavasa 2

F

(1) (A) 3R (R) 2Fi & & aur (A) i ¥ =@ (R), B

(2) (A) 3R (R) S & § W (A) H F =@ (R), T R
(3) (A) ¥ B, (R) 7o R

(4) (A) T B, (R) 4 B

(88) 37 (P.T.O.)
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— . 5
104. When was the post-Independence reorganization of States of India done:

arE # Tl @ @A gaisd e fE o

(1) 1948 (2) 1956 (3) 1961 (4) 1966

105. Who is the author of the book A Hundred Years of Geography ?

(1) W. Bunge (2) R. Hartshorne
(3) D. Harvey @) T. W. Freeman
¢ 2T @ % ST TEE % i #A #7

(1) g=go gt (2) 3o B

(3) Zo T (4) do secgo HTHA

106. What is the main reason for Japan becoming the leading industrial nation o
world?

(1) It has plenty of mineral resources.

(2) It possess abundant fossil fuel.

(3) It is equipped with high technological capability.

(4) The Industrial Revolution started there.

FOH ¥ v & omoh oftwifieh P w4 & HEd O =41 RV

(1) 39% 9 YU GRS §EE T (2) 3% TH AT IR F AR R

(3) % WH IA TR G 2 (4) @& Hranfies wifa w1 Wy g o

(88) 38
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?ngcl;l one of the following ranges is associated with Mesozoic volcanocity in
ndia®

(1) Raymahal Hills (2) Nilgiri

(3) Pir Panjal (4) Aravalli

v # frefifias § @ @-dt It Fecies saemE B @ g 27
(1) TowEs veIfSal (2) et

(3) it =T (4) srTae

Who amongst the following geographers first used the term ‘Pragmatic
Possibilism’?

(1} C. Ritter (2) G. Taylor (3) J. Brunches (4) G. Tatham
freafeigs & & fov ypieE 3 wdwem ‘SEefs aovaar’ 9 & sam e
(1) dio f (2) Sfto e (3) Sto (4) Sfto 29

Under the National Population Policy of India, 2000, by which year the
population stagnation goal has to be attained?

Wi # g sEEn {ifd 2000 % e SEen fRra & @ e ad 9% un
FAT 87

(1) 2055 (2) 2060 (3) 2065 (4) 2070

Which is the correct sequence of the top States of India, in descending order, in
terms of proven coal reserves?

(1) Odisha, Chattisgarh, Jharkhand, Madhya Pradesh
(2) Chhattisgarh, Odisha, Madhya Pradesh, Jharkhand
(3) Jharkhand, Odisha, Chattisgarh, Madhya Pradesh
(4) Madhya Pradesh, Chhattisgarh, Jharkhand, Odisha

39 (P.T.0.)
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fFrfafee aqht awedt & @ #9 fe qemmm & g 7@ 27
(2) Wenfees 9w

(4) ST Ur

Match List-I with List-1I and select the correct answer from the given codes :

(1) HATcTEE "

(3) 3w feg WA HT

List-I (State)
(A) Gujarat
(B) Maharashtra
(C) Uttar Pradesh
(D) Rajasthan
Codes :
@A B (€
(1) () () (i)
3y () Gv) (1)

(D)
(iv)
(1)

(2)
(4)

List-Il {Atomic Power Plant)
(i Rawatbhata
(i1) Narora
(i1i) Kakrapara

(1iv) Tarapur

Ay B (€ (D)
fiv) (i) @) ()
@i @ (v ()

g1 B g & gafem Hif aon Ry e @ 7@ IwW g

g1 (T=9)

(A) T

(B) WERIZ

(C) I WeN

(D) TTEIH
i‘:‘;’ -

(A) B) (©)

(1) () (i) (i)
3) (i)  (v) (1)

(D)
(v)

41

(2)
(4)

gefi-11 (W Afes 773)
(i) TEaHT
(i) T
(iii) SR
(iv) TR

(A) B) (€} (D)
(iv) (i) (1) (1)
() (1) (iv)  (n)
(P.T.0.)
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111.

112.

113.

114.

(88)

wﬁaﬁﬁaaﬁmﬁﬁ:ﬁq@ﬁ,m%muuaﬁmaamﬁﬁmwﬁ?
(1) sifem, SdETg, FETs, AN
(2) ST, fem, AEEdN, AEUS
(3) aravs, Afem, FHETe, TR
4) T, FAETE, FEEUS, i

According to G. T. Trewartha, which one of the following codes denotes the
climate of the Ganga Plain?

snuaoﬁmwfé;aﬂm,ﬁw%fmﬁﬁaﬁq-m@w%hﬂmﬁmﬁ
Zortar 87

(1} CA'w (2) CB'w (3) Cau (4) C wg

What is the term used to denote the flat topped terraces made of fine silt in the

Kashmir Valley?
(1) Doon (2) Karewa (3) Duar (4) Char

Fvit 9 ¥ 7N Me ¥ Fiffe owaw adege @m @ Al F F fau Fh-m
gz vam faar S 27

(1) (2) Fa (3) W (4) =

Which one of the following rock systems is the main source of coal in India?
(1) Gondwana (2) Vindhyan (3) Tertiary (4) Cuddapah
yid § #ae & g da fefafas § 8 #E-a e J3 27

(1) Tigam 2) forem (3) = (4) FEm

Which one of the following currents does not belong to Indian Ocean?

(1) Agulhas Current (2) Mozambique Current

(3) South Indian Ocean Current (4) Benguela Current
40
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116.

117.

118.

(88)

Which one of the following regions is considered as the place of beginning

vegeculture in the world?
(1) North Africa (2) Central Asia

(3) South-East Asia (4) Central America

frfifiga § @ -1 R0 fava § s F1 I@W w9 JE F@ 27

(1) 3edt bl (2) " Ui
(3) afdror-gd wfvEn (4) e I

Which one of the following rock formations is the richest in plant fossils?
(1) Gondwana (2) Shiwalik (3) Vindhyan (4) Cuddapah
frefufian S § @ #9 uey AW § waifs @ 27

(1) T (2) frafes (3) forema (4) Fe

Which one of the following is known as the accelerated stage in
Urbanization Curve?

(1) First (2) Second (3) Third (4) Fourth

frafafas 4 9 fras Tl aF A @ftg 79w Fa S 27

(1) 94H (2) T (3) et (4) =g
42
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119. Given below are two statements. One labelled as Assertion (A} and other labelled
as Reason (R). Select the correct answer from the codes given below :

(A) Arunachal Pradesh has vast potential of hydropower production.

(R} Arunachal Pradesh receives heavy rainfall.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is truc, (R) is false.
(4) (A) is false, (R) is truc.

9 3 F97 fiu ¥ wE w1 afErE (A) ok ! FRU (R) F w9 fm
21 f9 faw m 3 F @ @ 3w ghc . w ™

(A) SVIEE Yol # Sifagd I0eH & SUR mear 2
(R) 3Wmee Wow | 9} a9l g 2
P :
(1) (4) 3 (R) 3t & & au1 (A) i wd == (R), R
(2) (A) 3 (R) I 79 § W (A) A W@ A (R), T 2
(3) (A) 99 R, (R) T&a R
(4) (A) T 2, (R) 9 2|

120. Which one of the following industrial regions of India has the predominance of
metal industries?

(1) Ahmedabad-Vadodara (2) Kolkata-Hooghly

(3) Chotanagpur (4) Mumbai-Pune

(88 43 (P.T.0.)
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urd % frafafaa § 4 fem sitefie ww & uig sl & yurar o8 S 272
(1) SeHeER-ageT (2) Frewhrar-greh
(3) BemmTg (4) g=s-79

* k%

44 D/8(88)—11
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10.

i1.

12,

13.

14.

Awaigal & feo fEw

(3 U F g - W AN MoWeHFe IW-TT ¥ A TH w
Fad fielt,/ FA aE-wEz 11 5 @ o) '

‘m-qf%_?r e F 30 o2 % w2 fl 29 A 5 owams § ol 98 WHz ? 37 FE ym W T
272 T8 2 qﬁ—rﬁn ATIE T AH W A gum A Fa-fas w1 25 geIn ATy # AaA
pUSEA N - A Al |

TN W R gan-1 F stafre, fam mowm w1 G gen s W § 3 A6

Bf?ot’."-hjawo IT-TA FEM A @M N R 3@ T A WE W T F faga &1 zam atovgosmo w37~
Tq T 73 AW Fae stomRo Mo IN-7T & F gegiad faar aram

A taten wgn SEO-yy @ dEh a e am 99 8 fuife om ow e
ACTHANo F-TF & WIW Y8 W 97 7 39N 3q@wiE fuifen v w o o a0 Frr gt

F1 T H 7| HE-HEl ATAYqSH 7 Al WA-YiEas &1 wuiw U &g w12 A0 941 92 @
IeA wamat o

AL ST W ONFWMF HEN. wE-ifew dmmoa 4z Hewn (3fz w93 o7 4w e
AT W FENE Ho M MeTHoMRe IW-UT Ho F1 ufafpdl § IFEEm B smai TH

I ubElTA A FE ol qEAn #a faE g owafm Aw aifE wma we ovs smmm A
FOWN 4 ST f

-9 0 YEE WA & 40 3%60% T fm w3 mle wve # defue 3 & e srues
HloTHoRe IW-UF &1 waaf-<a ufw & A f73 T g9 & stotmowme T-97 % wow gy
@ fea 3 f3@vn & sgEw 97 7 mzr Fwm _

geE Tk I OF fm Faw vE d 39 W omm 3 oE 8 oswhiw a9 | oW ¥ o swa
TR gW F FIV W W FF TV A AT FEO

*ﬂmééfaﬁrr,zr:ar:mﬁm:ﬁﬁmwaa?-ﬂqﬁmm%uﬁ,.mf?ﬁmwmaﬁémm
. A guwtud 9 & A fm o el g9 R a3 3 vm we oWy ws trowmn
" FE e wE-RaE F gEm F oaem A 9y Ay A 9g w1 o

whan £ GUTH F AR Sdl s AeTHe AT IW-T e Fa /T § Fa faE F1 min 2 werd
F HY I ad d@omHere yw-ma fi ufda & S gwA 2

T BHH FA ® TRd 9hen vew § oW W 4 sEufa 98 @

afz =12 srerdi Ten d sgfaa maAt =1 owam w2, A1 g favaferem am Rl 2z | E, g
£ /B

o=

—
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